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Enrichment

11-5
Fraction Playground
To balance a seesaw at the playground, the two people on the 
seesaw must be the same weight. The same is true for fractions. 
Two equal fractions will result in a balanced seesaw. When one 
fraction on a seesaw is greater than the other fraction on the 
seesaw, the greater fraction will sink and the lesser fraction will rise.

Look at the fractions on the seesaws. For each, circle the fraction 
or fractions that would result in the seesaw staying in the position 
shown.

 1. 

    2 __ 
6
     4 __ 

5
     20 ___ 

22
     5 __ 

6
     1 __ 

5
  

 2. 

    2 __ 
5
     1 ___ 

12
     25 ___ 

40
     10 ___ 

20
     8 __ 

9
    

 3. 

    1 __ 
3
     5 __ 

6
     3 ___ 

10
     12 ___ 

25
     20 ___ 

45
  

 4. 

    2 __ 
3
     14 ___ 

16
     9 ___ 

10
     6 ___ 

18
     12 ___ 

27
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